


Item Number

— O 0 9 9 SN n ok~ N =

13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

Part Number

AC-0556
SSF-556
SUDL-9-1
000000-00
CAC-61
K-0084
000000-00
5130039-00
000000-00
A17038
A14785
SSP-7811
A19712
ACG-19
97503734
SSP-7813
AC-0126
SSP-7821-1
SSG-3105
ACG-18
SSF-990
AC-0099
DAC-244
ACG-408
ACG-12
ACG-13
SSF-554

PartsList for CF2800 Type 2

Description

COVER PRES SWITCH W/
SCREW #10-32X1.00 HH
SCREW #8-32X.375/.34

No Longer Available

RING PANEL MOUNTING
KIT VOLTAGE CONVERSI
No Longer Available
SLEEVE

No Longer Available
DRAIN VALVE

FOOT PAD

ASSY NUT SLEEVE 1/4
VALVE CHECK 1/2NPT X
ISOLATOR 3 POINT MOU
VALVE SAFETY 150 .12
ASSY NUT SLEEVE 3/8
TUBE OUTLET .3750D A
NUT .563-18 UNF HEX
ORING 306/2961ID 073/
CUP SADDLE MOUNT
SCREW .250-20X1.25 U
TUBE OUTLET .3750D A
SHROUD FRONT TWIN CY
ASSY FASTENER
ELEMENT FILTER INTAK
COVER INTAKE MUFFLER
SCREW #10-14X2.50 PA

Page 1

Qty Required

e e e e e e e T e e e e e e T e T e T T N e S e S S N T e



Item Number

29
30
33
34
35
36
37
38
39
40
41
43
44
46
47
48
51
52
53
54
55
56
57
58
60
65
66

Part Number

000000-00
DAC-243
AC-0007
000000-00
91895680
A19513
Z-D23032
000000-00
000000-00
000000-00
AC-0681
AC-0682
SSP-546
SSP-548
000000-00
000000-00
000000-00
ACG-8
ACG-6
ACG-9
000000-00
ACG-23
ACG-22
39124607
A02743
Z-AC-0032
ACG-45

PartsList for CF2800 Type 2

Description

No Longer Available
SHROUD REAR TWIN CYL
REGULATOR 4PORT P1P2
No Longer Available
SCREW .250-20X.750 H
BODY QC .250 IND .25
GAUGE 2.00D 200PSI .

No Longer Available

No Longer Available

No Longer Available

TUBE GAUGE TANK NYLO
TUBE QD 3/8 OD NYLON
FITTING 1/8 NPT 90 F
FITTING 1/4 NPT 90 M

No Longer Available

No Longer Available

No Longer Available

PIN ECCENTRIC
COUNTERBALANCE INNER
WASHER ALIGN

No Longer Available

NUT .500-20 UNF-2A H
FAN RADIAL 6.0 OD
SCREW .250-20X.625 H
KIT CONNECTING ROD
ASSY VALVE PLATE
ORING P/L HEAD

Page 2

Qty Required

— e e e e e e e e e e e e e e e e e e e e e () e e e e



Item Number

67
68
69
70
71
72
73
74
75
76
77
78
79
92
93
94
95
96
97
98
99
100

Part Number

AC-0038
AC-0037
ACG-11
SSF-927
D22852
DAC-138
SSN-2406
000000-00
AC-0260-1
SSF-643
000000-00
000000-00
SUDL-6-1
000000-00
000000-00
000000-00
000000-00
LA-2650-3
LA-3255
NO008806
LA-3115
000000-00

PartsList for CF2800 Type 2

Description

HEAD 3/8 OUTLET FRON
HEAD 3/8 OUTLET FRON
MUFFLER INTAKE 2 CYL
SCREW .250-20X1.125
WHEEL PNEU 10.5X3.5
AXLE WHEELBARROW
PIN COTTER 5/32X2

No Longer Available

GRIP HANDLE RIBBED
SCREW .313-18X1.75 H
No Longer Available

No Longer Available

STRIP RUBBER FOOT

No Longer Available

No Longer Available

No Longer Available

No Longer Available
LABEL WARNING ENG/FR
LABEL

LABEL HOT SURFACE TR
LABEL

No Longer Available

Page 3

Qty Required

p—t ek e e e e ek e e ek ek e ek ek ek e e e e e e



